




















%
g

M 8 £ & E % E % #l
7 -19
A 5a—20b
W & 5x—13y
1 14
T 9J7
(2) 23
(3) x=—3, x=7
(1) %1
2 2) 144
11
9 5
(1) 7
3
(2) | 10 [<a=[ 16 |
yi R X2
A HEOEE X2
" TRTORAOABESR [115] A
) T8 D ABHH [68 | A
(1) WFG, 5AGH
5 (2) 6
16
(3) -
) y__12
X
(2) —7a
6
R 5 BB %3
(3)
" 17
13
(1) X4
7
9
(2) e

X1 K2 (1)

%2 KE4 (ARALFAREDERE)
TRTORANDAEERZ x N, FELDAEERZ y N&T D,
x +y =183
{ 500 X 0.8x + 450 X 0.2x + 300y = 76750
INEMANT, x =115, y =168

X3 K6 (3) GReb5i1B%8)
A (2, —6), D (2, 8), F(—4, 12) kb,

A FAD = %x{8—(—6)}><{2—(—4>}:42

B (—4, 16a), C (3, 9a) &b,

EAEBC oL y=—ax + 12a

XoT, E (2, 10a) 25, B BEDE OWEIL,
1

(ED + BF) X&H& X 5 =42 v,

{(10a —8) + (16a — 12)} X 6 X % = 42
_
¢T3

X4 K7 (1)
A BCF & A ADE T,
REXY, L ACB=2ZACE -
AE O JE 135 LD, £ ACE =Z ADE @
D, @k, £ ACB=Z ADE 275, £ BCF =4 ADE @
L v, BC=CD7#»b, BC & CD OMEMAILE L0,
/ CDF =/ CBF @
Fo, WELY, AC=AD 75, L ACD =/ ADC ---®
AB OHJEMAIZE LD, £ ACB =/ ADB -®
O, ®Xv, L ACE=2/ADB @
%7-, L DCE =/ ACD —Z ACE -~®
/ CDF =/ ADC — Z ADB (@
®, D, ®, @Xv, £LDCE=/ZCDF @
DE O JE 135 L5, £ DCE = £ DAE @
@, @, @WkYv, £ CBF =4 DAE --®
@, LY, 2HMOARZENETNELVIND,
A BCF e» A ADE



	22shizuoka
	22shizuoka
	22shizuoka5

	22shizuoka5



